Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1239875

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🔲 East 🗌 West
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
	Producing Formation:
Oil WSW SWD SlOW	Elevation: Ground: Kelly Bushing:
Gas D&A ENHR SIGW	Total Vertical Depth: Plug Back Total Depth:
☐ OG ☐ GSW ☐ Temp. Abd.	Amount of Surface Pipe Set and Cemented at: Feet
CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used? Yes No
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set:Feet
Operator:	If Alternate II completion, cement circulated from:
Well Name:	feet depth to:w/sx cmt.
Original Comp. Date: Original Total Depth:	
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Drilling Flyid Management Plan
☐ Plug Back ☐ Conv. to GSW ☐ Conv. to Producer	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Commingled Permit #:	Chloride content:ppm Fluid volume:bbls
Dual Completion Permit #:	Dewatering method used:
SWD Permit #:	Location of fluid disposal if hauled offsite:
GSW Permit #:	Operator Name:
_	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY			
Confidentiality Requested			
Date:			
Confidential Release Date:			
Wireline Log Received			
Geologist Report Received			
UIC Distribution			
ALT I I II Approved by: Date:			

1239875

Operator Name:			Lease Name: _			Well #:	
Sec Twp	S. R	East West	County:				
open and closed, flow	ring and shut-in pressu	ormations penetrated. Cures, whether shut-in predictional chart(s). Attach	essure reached stat	ic level, hydrosta	atic pressures, bot		
		otain Geophysical Data a or newer AND an image		ogs must be ema	ailed to kcc-well-lo	gs@kcc.ks.go	v. Digital electronic log
Drill Stem Tests Taker (Attach Additional		Yes No			on (Top), Depth ar		Sample
Samples Sent to Geo	logical Survey	Yes No	Nam	е		Тор	Datum
Cores Taken Electric Log Run		Yes No					
List All E. Logs Run:							
		CASING	RECORD No	ew Used			_
		Report all strings set-			ion, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
		ADDITIONAL	. CEMENTING / SQL	JEEZE RECORD		·	
Purpose: Perforate	Depth Top Bottom	Type of Cement	# Sacks Used	Type and Percent Additives			
Protect Casing Plug Back TD Plug Off Zone							
Did you porform a hydrau	ulic fracturing treatment o	n this wall?		Yes	No (If No, sk	in quartians 2 ar	
Does the volume of the t	otal base fluid of the hydr	aulic fracturing treatment ex submitted to the chemical			No (If No, sk	ip questions 2 ar ip question 3) out Page Three	
Shots Per Foot		N RECORD - Bridge Plug			cture, Shot, Cement		
	Specify F	ootage of Each Interval Per	forated	(A	mount and Kind of Ma	nterial Used)	Depth
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or ENF	HR. Producing Meth	nod:	Gas Lift (Other (Explain)		
Estimated Production Per 24 Hours	Oil B	dbls. Gas	Mcf Wat			Gas-Oil Ratio	Gravity
	I .				I		
Vented Solo		Open Hole	METHOD OF COMPLI Perf. Dually (Submit	Comp. Con	mmingled omit ACO-4)	PRODUCTIO	ON INTERVAL:
(If vented, Sui	bmit ACO-18.)	Other (Specify)	•	•	·		

Form	ACO1 - Well Completion	
Operator	Lotus Operating Company, L.L.C.	
Well Name	Achenbach 'B' 1	
Doc ID	1239875	

All Electric Logs Run

Dual Induction
Neutron Density w/PE
Sonic
Micro

Form	ACO1 - Well Completion	
Operator	_otus Operating Company, L.L.C.	
Well Name	Achenbach 'B' 1	
Doc ID	1239875	

Tops

Name	Тор	Datum
Heebner	3900	-2410
KC	4399	-2909
ВКС	4848	-3158
Miss	4812	-3322
Viola	5237	-3747
Simp Sh	5340	-3850
Arb	5532	-4042
RTD	6320	-4830
LTD	5547	-4057

Form	ACO1 - Well Completion	
Operator	_otus Operating Company, L.L.C.	
Well Name	Achenbach 'B' 1	
Doc ID	1239875	

Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight		Type Of Cement		Type and Percent Additives
Surface	14.75	10.75	32	300	60/40 poz mix		2% g, 3%cc
Production	8.75	5.5	15.5	5645	Class A ASC	175	Latex



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

INVOICE

Invoice Number: 146031

Invoice Date: Sep 26, 2014

Page: 1

Federal Tax I.D.#: 20-8651475

RECEIVED

OCT 0 9 2014

Customer ID	Field Ticket #	Payment	Terms
Lotus	63044	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-01	Medicine Lodge	Sep 26, 2014	10/26/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Achenbach B #1		
150.00	CEMENT MATERIALS	Class A Common	17.90	2,685.00
100.00	CEMENT MATERIALS	Pozmix	9.35	935.00
430.00	CEMENT MATERIALS	Gel	1.05	451.50
644.00	CEMENT MATERIALS	Chloride	1.10	708.40
268.60	CEMENT SERVICE	Cubic Feet Charge	2.48	666.13
280.00	CEMENT SERVICE	Ton Mileage Charge	2.75	770.00
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
25.00	CEMENT SERVICE	Light Vehicle Mileage ENTERED	4.40	110.00
25.00	CEMENT SERVICE	Pump Truck Mileage	7.70	192.50
1.00	CEMENT SUPERVISOR	Jason Thimesch OCT 1 4 ZU14		
1.00	EQUIPMENT OPERATOR	Justin Bower		ı
1.00	CEMENT SUPERVISOR	Ron Gilley		ı
		GL# 9208 DESC. coment sunf CSS WELL# Achinb		
		Outhoris		8 030 78

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,606.16

ONLY IF PAID ON OR BEFORE

Oct 26, 2014

TOTAL	8,372.54
Payment/Credit Applied	
Total Invoice Amount	8,372.54
Sales Tax	341.76
Subtotal	8,030.78

-1,606.76/ 67106.38

ALLIED OIL & GAS SERVICES, LLC 063044 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092 SERVICE POINT:

Medicine LodgeKS

DATE 9/26/14 SEC. TWP. RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE Action ach WELL # B# LOCATION Hardton			COUNTY	STATE
OLD OR NEW Circle one) Rd 4m; to West	side of hows, North	. 4 West to Rig		
CONTRACTOR Dake 7	OWNER Lø	~		
TYPE OF JOB Suffee	OMILER PO		ring	
HOLE SIZE 1434 T.D. 305	CEMENT			
CASING SIZE 101/4 DEPTH 286	AMOUNT ORD	ERED 2.50s	-60:40	:3% ~ +29
TUBING SIZE DEPTH	Gel		100 10	. 57811127
DRILL PIPE DEPTH				
TOOL DEPTH		4		
PRES. MAX 2.5 ⁻⁰ MINIMUM	COMMON_C	lass A 1505x	@ 17.90	2685,∞
MEAS. LINE SHOE JOINT	POZMIX	/∞ ₅ x	@ 9.35	935.00
CEMENT LEFT IN CSG. 20 ft	GEL	430 #	@ 1.05	451,50
PERFS.	CHLORIDE		@ 1.10	708.40
DISPLACEMENT 28 BH Fresh HeO	ASC		@	
EQUIPMENT			@	
			@	-
PUMPTRUCK CEMENTER JOSON T / Justin B			@	
#949/302 HELPER Justin Bowers	****		@	
BULK TRUCK			. @	
# 364 DRIVER Ron Gilley				
BULK TRUCK				
# DRIVER				
	HANDLING		@	-
DEMARKS.	MILEAGE	-1 -		
REMARKS:	5	20%=955.99	Z TOTAL	4,779.90
		SERVIC	E	
	DEPTH OF JOB	781		
	PUMP TRUCK C			1512.25
	EXTRA FOOTA	€ LV 25.	@ 440	110.00
	MILEAGE	2 Sni	@ 7.70	192.50
	MANIFOLD _		@	112.00
	Handling Z	48.4	@ 2.48	666.12
			@ 7.75	770.00
CHARGE TO: Lotas Operating	. , ,			
•	20	0%=650.17	TOTAL	3,250.87
STREET			IOIAL	3,230,01
CITYSTATEZIP				
5777 ZII	PL	UG & FLOAT	EOUIPMEN	T
			6	
			@	
To: Allied Oil & Can Samilana II C			<u></u>	
To: Allied Oil & Gas Services, LLC.			@	
You are hereby requested to rent cementing equipment			e	
and furnish cementer and helper(s) to assist owner or			@	
contractor to do work as is listed. The above work was				
done to satisfaction and supervision of owner agent or			TOTAL	
contractor. I have read and understand the "GENERAL				
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If A	-		
	TOTAL CHARGE	8030.7	7	
PRINTED NAME CISLEN D ROLL				
KINTED NAME CYLLON & NOW	DISCOUNT		IF PAII	D IN 30 DAYS
SIGNATURE (Fally D Ronal	Not 6	424.61		
SIGNATURE (Faled) Rend	110-			



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

NVOICE

Invoice Number: 146170

Invoice Date: Oct 4, 2014

Page:

1

Federal Tax I.D.#: 20-8651475

RECEIVED

OCT 1 4 2014

Customer ID	Field Ticket #	Paymen	t Terms
Lotus	63026	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Medicine Lodge	Oct 4, 2014	11/3/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Achenbach #B-1		
175.00	CEMENT MATERIALS	Special Blend Cement Class A	23.50	4,112.50
875.00	CEMENT MATERIALS	Kol Seal	0.98	857.50
83.00	CEMENT MATERIALS	FL-160 Fluid Loss	18.90	1,568.70
44.00	CEMENT MATERIALS	Flo Seal	2.97	130.68
50.00	CEMENT MATERIALS	60/40 Poz 4% Blend Class A	18.92	946.00
286.67	CEMENT SERVICE	Cubic Feet Charge	2.48	710.94
60.52	CEMENT SERVICE	Ton Mileage Charge	2.75	166.43
1.00	CEMENT SERVICE	Long String ENTERED	3,099.25	3,099.25
1.00	CEMENT SERVICE	Manifold Head Rental	275.00	275.00
30.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	132.00
30.00	CEMENT SERVICE	Pump Truck Mileage	7.70	231.00
2.00	CEMENT SERVICE	Waiting on Location	440.00	880.00
1.00	EQUIPMENT SALES	5-1/2 Latch Down Plug	660.00	660.00
1.00	EQUIPMENT SALES	5-1/2 Triplex Shoe	1,340.00	1,340.00
5.00	EQUIPMENT SALES	5-1/2 Centralizer GL# 9308	57.00	285.00
1.00	CEMENT SUPERVISOR	Jason Thimesch Wayne Rucker DESC. coment pund	5	
1.00	OPERATOR ASSISTANT	1 2	3 0	
		CS	180)	
		V		
		WELL # ACLUMD		
L	L	Cubiatal		15 395 00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

2,622.00

ONLY IF PAID ON OR BEFORE

Nov 3, 2014

Subtotal	15,395.00
Sales Tax	707.88
Total Invoice Amount	16,102.88
Payment/Credit Applied	
TOTAL	16,102.88

- 7622.00



Field Ticket Number: 63026			Field Ticket Da	la	Saturday, October 04, 2014					
BIII To:		[16.						
LOTUS		Job Nam		02 Production	•					
		Well Nan Well Nun			ACHENBACH B-1					
		Shipping Sales Oil			MEDICINE LO	DGE, KS				
		SERVICES - S	SERVICES	_ SERVICE	c					
Description	0)		ENVICES			0 (Feb)	Electrical Control of the Control of			
Casing Pump Charge 5001' to 6000'	1,00	min. 4 hr	3,099.25	3099,25	2,479.40	20%	2,479.40			
Comenting Head Rental with Manifold (Low Pres	1.00	por day	275.00	275.00	220.00	20%	220,00			
Products handling service charge	286.67	per cu. Fl.	2.48	710.94	1.98	20%	568.75			
Drayage for Products	60.52	ton-mile	2.75	166.42	2.20	20%	133,14			
Light Vehicle Milcago	30.00	per mile	4.40	132,00	3.52	20%	105.60			
Heavy Vehicle Miloago	30.00	per mile	7,70	231.00	6.16	20%	184.80			
MATERIALS - MATERIALS										
5 1/2 Latch Down Plug	1.00	each	660,00	660.00	660.00	0%	660,00			
6 1/2 Triplex Shoo	1.00	· each	1,340.00	1,340.00	1,340,00	0%	1,340.00			
5 1/2 Centralizer	5.00	each	57.00	285.00	57.00	0%	285.00			
ALLIED SPECIAL BLEND CEMENT - CLASS A	175.00	per sack	23.50	4,112.50	18.80	20%	3,290.00			
Kol Seal	876.00	per pound	0.98	857.50	0.78	20%	686.00			
Fluid Loss - FL-160	83.00	per pound	18.90	1,568.70	15.12	20%	1,254.96			
Flo Soal	44.00	per pound	2.97	130.68	2,38	20%	104,54			
ALLIED 60/40 POZ 4% BLEND - CLASS A	50.00	per sack	18.92	946.00	15.14	20%	756.80			
ADDIT	IONAL IT	EMS - ADDIT	IONAL IT	EMS - AD	DITIONAL	ITEMS				
Additional hours, in excess of set hours	2.00	per hour	. 440.00	00.088	352.00	20%	704.00			
					Gross	Discount	Final			
				rvices Total lerials Total	4,614,61 9,900,38	922,92	3,691,69			
Alled Rep Cuslomer Agent:				lional Items Final Total	880.00	1,523,08 8,377,30 176,00 704,00				
- In the second contract of				i mar i otar [15,394,99	2,622,00	12,772,99			
This output does NOT include taxes. Applicaple sale Customer hereby acknowledges receipt of the materic I have read and understand the "GENERAL TERAL	als and services	described above and or	u the attached do	cuments.						
× 3399			Field Ticket Tota	l (USD):	Ī		\$12,772.99			
Customer Signature		-					7			



PAGE	CUST NO	YARD #	INVOICE DATE
1 of 1	1002427	1718	10/28/2014
	TMVO	TOP NIME	FD

91633952

Pratt

(620) 672-1201

B LOTUS OPERATING CO. LLC

1 100 S MAIN ST STE 420

L WICHITA

KS US

67202

o ATTN:

ACCOUNTS PAYABLE

				_	
J	LEASE	NAME	Achenbach	В	1

LOCATION B

COUNTY Barber

S STATE KS

JOB DESCRIPTION Cement-New Well Casing/Pi T

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE (ORDER NO.		TER	MS	DUE DATE
40781167	19843				Net - 3	0 days	11/27/2014
			QTY	U of M	UNIT	PRICE	INVOICE AMOUNT
For Service Dates	: 10/27/2014 to 10/2	7/2014					
0040781167				R	ECE	VEI	
,040701107					OCT 3 0		
171811430A Cemel Cement Squeeze	nt-New Well Casing/Pi 10/3	27/2014			00100	2014	
Common Cement			150.00	EA		12.32	1,847.85
"Unit Mileage Chg (P	PU, cars one way)"		55.00	MI		3.46	190.5
Heavy Equipment Mi	_		110.00			5.77	
"Proppant & Bulk De			388.00			1.92	
Depth Charge; 4001			1.00 150.00			1,940.24 1.08	·
Blending & Mixing Se Cement Squeeze Ma			1.00			384.97	
"Service Supervisor,			1.00	EA		134.74	134.7
GL		98					
DE	SC. Cement	Squeeze			ENTE	RED	•
Control and an artist of the second		V			NOV 0		
`^/E	LL# Ache	hb			NOV	2014	
	• •						
PLEASE REMIT	TO: SEND	OTHER CORRESPO	ONDENCE TO):			

BASIC ENERGY SERVICES, LP
PO BOX 841903

BASIC ENERGY SERVICES, LP
801 CHERRY ST, STE 2100

PO BOX 841903 801 CHERRY ST, STE 2100 DALLAS, TX 75284-1903 FORT WORTH, TX 76102

SUB TOTAL 6,042.09 132.12 TAX

INVOICE TOTAL

6,174.21



10244 NE Hwy, 61

FIELD SERVICE TICKET 1718 11430 A

м	P.O. Box 8613
	Pratt, Kansas 67124
	Phone 620-672-1201

			ING & WINELINE	- 35 -	-13			DATE	TICKET NO					
DATE OF O	ISTRICT P_{rsfi}		NEW WELL □ PROD □ INJ □ WDW □ CUSTOMER ORDER NO.:											
			Priging Co.			LEASE AChenhach B WELL NO. 1								
ADDRESS			,			COUNTY BSIDES STATE KS								
CITY			STATE			SERVICE CREW DSiin, Ex, Bescher								
AUTHORIZED B	BY					JOB TYPE: CNU/ Squeeze								
EQUIPMENT		HRS	EQUIPMENT#	HRS	EQL	JIPMENT#	HRS	TRUCK CALL		DAT	E AM TIN	AE		
27283		71/2		-				ARRIVED AT	JOB			45		
84981		21/2						START OPER	RATION	10.	AM 10.	30		
19843 1995		1/2		-	,			FINISH OPER		01	AB4 (1	60		
73768		11/2						RELEASED			78820	0		
1 100								MILES FROM	STATION TO					
products, and/or su	pplies inclu	udes all o	execute this contract as an a of and only those terms and of the written consent of an off	conditions applicer of Basic	pearing on Energy Se	the front and back rvices LP.	of this do	IGNED:(WELL OWNE	ional or substitute	CONT	and/or conditions	s shall		
REF. NO.		M	ATERIAL, EQUIPMENT	AND SERV	ICES US	ED	UNIT	QUANTITY	UNIT PRIC	E	\$ AMOUN	T —		
CP100C	Cor	1 mc	n Cement			050	5K	150		_	2,400	20		
F-100	Unia	M.105	se Chsise Pick	43,5 M	SINUCA	ACCIF WEY	M.	33		-	247	50		
F 14	1 1-7 (7 (/ / /		. 4 3 6.			100	110		<u> </u>	825	20		
F113	Prop	1750	herse 1 4601	PHIVELY	Ch51	5-5, 12, teans	INA	388		┼	767	38		
CF.705	Dep.	th C	nerse 1 4/001	· > / (000'		41h.	150			2,520	00		
(F240	BICA	4,05	& Mir ng Se	(U.CP	h 9/	5 @	To S	150				00		
CF 500 5003	Spri	1	Supervier,	ich /c	1 d c	() () () ()	EG.			-	175	00		
	EMICAL / A				SEF	RVICE & EQUIPI		%TA>	SUB TO		7,546	88		
SERVICE	.,,			THE ABOV	'F MATFI	RIAL AND SERV	/ICE	RZ	RE 1	46				
REPRESENTATIV	VE 17	24.	Liente			TOMER AND RE) BY: \\	J. 1. 1	1)MN			
FIE: D 0 = D	00050						(WELL O	WNER OPERAT	OR CONTRACTO	ROR	AGENT)			



TREATMENT REPORT

Customer / C	itus in	0-00		- 1//	Ţ	ease No.						Date					
Lease ACA	ent cot	<u> </u>	<u>π. ης. ε</u> R	6.11	- N	Vell#							10	.27	2019	~	
Field Order #	Statio	n Pi	1574	,)< 5				Casing	1/2	Depth	50	Count		Siber		Stat	e KS
Tuna lab	'NW)				رمرہ			, ,	For	mation				Legal De	escription /	, -	35-13
	E DATA					DATA		FLUID (JSED				TREA		RESUME		
Casing Size Tubing-Size Shots/Ft				Acid	t				RATE	PRE	SS	ISIP					
Depth	Depth 4	\sim	From		То		Pre	Pad			Max				5 Min.		
Volume	Volume	\rightarrow	From		То		Pad	i			Min				10 Min.		
Max Press	Max Pres	s	From		То		Frac	C 7.			Avg				15 Min.		
Well Connection	n Annulus	Vol.	From		То	· · · · · · · · · · · · · · · · · · ·					HHP Used	ż			Annulus F	ressu	re
Plug Depth	Packer D	epth	From		То		Flus	sh			Gas Volun	ne			Total Load	d	
Customer Rep	resentative	Pu	bin I	Biour)	Station	Mana	ager Kei	1,n (50 r	2)04	Trea	ater [)Srin	Fran	KI	ñ
Service Units			581	198		1995	5	78768									
Driver Names	Derin	E		Ed		Bosc	رارم	Bescher									
Time	Casing Pressure		ubing essure	Bbls	. Pum	ped		Rate						ce Log			
845		_							On	10	CS+10	<u>n /</u>	594	CPHY 1	meetin	ng	
									1505K Common Cement 15.6 Ppg							DS.	
					м		1.18 veils, 5, 22 war, Reg.										
				A	7111												
	500	1,		-	50			31/2	Injection Rate								
		_	50		<u>20</u> 3			2									
		1/	50	-	9 [\dashv		3			150 5						
			.								down						
		4	00	,	28			1	1	WSSh Dumpalines							
		-/ (0			1	Dispisie Wait 30 minutes								
		15	00		0	_	-	Y4			10 UD						
		, ,				_			l		beck						
	600			L	10			1/2			SPOU						
		15	00		Ī						Ive bs						
		-						· ·			beci						
									i .		LP						
:											,						
															i		1
											10 - 10-				(000)	\= <u>^</u>	5000
10244	NE Hiv	vay	61 • F	.O. B	OX	8613 •	Pra	att, KS 6	7124	-861	3 • (6 <u>2</u> (J) 672	2-12C	л • Fax	(620) (72-	5383